Thank you for purchasing the KRG Enclosed forend! We hope that you enjoy using it.

Enclosed Forend for Tikka T3 Chassis

INST-TUB-T3S

Contents of Package:

KRG

- Enclosed Forend, assembled

- Baggie with following contents:
- 1ea Sling/Bipod stud
- 2ea button head M5 x 20mm screws
- 2ea flat head M4 x 12mm screws
- 2ea flat head M4 x 20mm screws
- 1ea Nylon washer for stud
- 4ea flat M5 nut for mounting accessories
- 1ea KRG L2 polymer rail kit
- 1ea T-slot mounting block (T3 forend only)

Safety Warning: Before you attempt any installation,
make sure your rifle is unloaded. Also, before starting
remove the bolt and magazine from the rifle.

Installation Instructions:

Step 1: Remove forend from stock.

Step 2: Slide mounting block into T-slot channel
in backbone with holes facing forward as shown:

Step 3: Slide forend onto backbone as shown.

Step 4: Install screws. Typical installation uses flat head
M4 x 20mm screws in front attaching into backbone and

flat head M4 x 12mm screws attaching into mounting block.

Alternate installation can use flat head M4 x 20mm screws
in front and button head M5 x 20mm screws in rear attach-
ing into backbone as shown.

Forend Mounting points:

MOE L2 RAIL AND QD SLING PLATE HOLE SPACING
mp| 1.190" |

. VQ_Q_Q_Q_Q_Q_Q_Q_Q_Q_Q_Q_Q)\

CHOoOoCOCDHOoOQoC DO C

Flat head M4 x 20mm ’ﬁ\

Alternate Mounting screws
button head M5 x 20mm

Flat head M4 x 12mm ﬁ’ﬁﬁ i}

RECTANGULAR HOLES ARE MLOK COMPATIBLE

Y R R

.

www.KRG-0PS.com

Kinetic Research Group, LLC



